18C

1)

8)

9)
10)
11)
12)
13)
14)

15)

17)

18)

19)

20)

196

-11

81

+7

33+3 = 36

52+6 = 58

65-2 =63

4542 = 47
A5+2B4+1 = A7TB5
BY +2Y - B3Y
AS5-1 = A4

X5+2-7 = X0

add

subtract

5(N +2) -2N =4(N + 1) - 40

5N +10-2N = 4N + 4 - 40
3N + 10 = 4N - 36
N = 46 46,47, 48

.05N +.10D=1.60, N+D=20

5N + 10D = 160

-5N - 5D =-100
sD= 60 N+(12)=20
D=12 N=8

3Y =-6X + 10
Y =-2X+10/3

Y
Y

3X+2
X+4

+
N

X+4)=3X+2
1=X = 1vyear

< <
67 Y
[}
(921
=

18D
1) -169
2) +12o0r-12
3) 225
4) +10o0r-10
5) 73+4+1=78
6) 28+3+2=213
7) X2+9=x11
8) A4+5B2 = A9B2
9) 853=82
10) 1051 =104
11) X10-4 = X6
12)  X4Y43Y-Y = x6Y
13) divide
14)  multiply
15) 4(N +2) + 3(N +4) =8N - 11
16) 4N +8 + 3N+ 12=8N-11

7N +20=8N-11
31=N 31, 38,35

17) 25Q+.10D=160, Q+D=7

25Q + 10D =160
-10Q -10D = -70

15Q =90 ((6)+D=7
Q=6 D

18) Y =37X+30

19) (215) = 37X + 30
185 = 37X

5=X = -5weeks

20) (326) =37X +30
296 = 37X

8=X = 8weeks

18E

1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)
15)

16)

17)

18)

19)

20)

-121
+14 or -14

49
+15 or -15
A2+4 = AB
53+4 = 57

A2+1B3+6(C2 = ABBOC 2
X4-3 = X1

99-3 = g6

114+6 = 1110

D3%X-2X = DX

M5+3-3 = M5

negative

same base
4(N +2)=3N+3(N +4)

4N + 8 =3N + 3N + 12
2=N" -2,0,2

25Q+.10D=1.75, Q+D=10
25Q + 10D = 175
-10Q - 10D =-100

15Q = 75 (5

+D=10
Q=5 D=5

4X+Y =16

Y = 25X + 50
Y = 10X + 200

25X + 50 = 10X + 200
15X =150

X=10 = 10 hours

Y = 10(10) + 200
Y =300 = 300 gizmos

3)

5)

6)

10)

11)

12)

13)

14)

7-2

43

32

7-3+(-8) = 7-11

6-2+(-3) = -5

9(-5)-(-2) = 9-3

3-8+4 = 3-4

B-2+3+5C-1-5+1 = B6C-5

C-1+43+1p-5+4-2+4 - Cc3p1

854 = g20

935 =915

A1B2B-1A-1B3= A-1-182-143 = A-2R4

CO =1 and won't change the answer.

B-3C3B1C3B-4= B-3+1-4C3+3 = B-6C6

V6L - 081 suoinjog



19B

1) 82

3) —

5) 4-8+5 = 4-3

6) 642 =66

7) 3(2@) =36

8) AMI(S) = A-20

9) 4(2@) =46

10) C1+2+3D-5+6 = CBD!

11) E-5-6F3+4-2 = E-11F5

12) B-6+7C1+2+3-4 = BIC2

13) Y-10+5-3 = Y-8

14)  ABX-3X = ASX

15) X-5Y2x3Y2y3y-4x-2=
X-5+3-2Y 2+2+3-4 = X-4Y3

16) A3B2A5B3B-4A3AS5=
A-3+5+3-582+3-4 -

A%B1 or (1)B! orB

19C

9)
10)
11)
12)
13)

14)

15)

16)

17)

18)

19)

20)

32

45-2 = 43

526 = 58
A-8+3+4B-2+5 = A-1B3
C3+4-2D-2+4+4 - C5D6
4-10+6 = 4-4

X5-4 = X1

33:2=36

257 = 235

64

+5 o0r -5
E-1+4+3-5F2+3+2 — E1F7

1x1000+3x100+7x1+8x1/100 =
1,307.08

3N +4(N + 2) =-13(N + 4)

3N +4N +8 =-13N - 52
7N + 8 =-13N - 52
20N = -60

N=-3 -3,-1,1

05N +.10D=.45 N+D=7

5N+ 10D = 45
5N - 5D = -35
5D =10 N+(@2)=7
D= 2 N=5
10Y = -5X + 20
Y=-1/2X+2

2)

3)

4)

5)

12)
13)

14)

15)

16)

17)

18)

19)

20)

XA+B
3-2+8 = 36

E0 =1
E-1+3F5-243 = E2F6

B5-6C-8+1+2+4 = B-1G-1
7(3)1(6) = 73

X10Y -5Y = X5Y

1034 = 1012

(103)5 =1035=1015
-25

+6 or -6

C5-1+3p4-3+2-4 - C7D-1

2x 10,000 +5x 10 +6x 1/10 + 9 x 1/100 =

20,050.69
3N +6(N +2) =8(N +4) - 14

3N +6N + 12 =8N + 32 - 14
ON + 12 =8N+ 18
N=6 6,8,10

25Q+.10D=2.15, Q+D=11

25Q +10D= 215
-10Q - 10D =-110

15Q =105 (7)+D=11
Q=7

Y=X (X)-3X=-4

19E
1) 78

1
2) =
3) AX
4) ﬁ
5) A2-4=A2
6) 56-4=52
7) 101135 =103
8) (-3-4+2D2+8-4 = C-5p6
9) MXX=MO0 or 1
10)  X2Y-4Y = x-2Y
11) 11253 = 1130
12) (72)% =7238=76
13) 225

14)
15)
16)
17)

18)

19)

20)

+9 or -9

X1+4+43y2-1-4 — x8Y-3
4x100 +9x102 +3 x 103
2N+3(N+1)-(N+2)=21

2N+3N+3-N-2=21

4N +1 =21

4N =20

N=5 56,7

25Q+.05N=4.30, Q+N=30

25Q + 5N = 430

20Q = 280 (14) + N =30
Q=14 N=16

2X+Y =9

361 - 961 suonnjos



